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After t=0: s - domain circuit
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Before t<0, C becomes open

and L becomes short
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Vi = vO and i0 = current through 50 ohm resistor
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Before t<0, all
current flows through
the shorted line,
voltage 1is zero.
So the initial
voltage 1in the
capacitor is zero.
After t>0, s=domain circuit
Apply node voltage method, the node voltage is voltage
across the capacitor, \Y;
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For t<O:
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V2 = 500 and V3 = vO, iO
Node 1: V1/10 + (V1-500)/100 + (V1-V3)/50 = O
Node 3: (V3-500)/100 + (V3-V1)/50 = O
V2 = 500
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After t>0 s-domain circuit
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